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\3 Chapter 21 Equivalent Resistance Challenge

Problem 1 %
1. Find the equivalent resistance of this circuit. 500 £ ._],,
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2. Find the current passing through the 120V
battery. \Q O\/
73h |
‘ITOT Rﬁo\ 4, 1G], 6720 LfO S A
O.0V7385 A

3. 400 Q Resistor

A, Fmd:v \_,\-OTQ <Q O\”?gg]aXLg@@ -

MHO\/
T - [0.073AL
C. Find P 0.0V73S A
e D TR - (00735 (100 - (0020w |
| A? ienSlsw O 204 W
:{d__v Lﬁ@ﬂ:@.@ﬁ%&%ﬁi . 67£l> =S, 0LY]
5060V
B. Fde__ \—/} _ 5 Oé@\/
- £0082 - LQ ‘;)OJosQA

C. Fmd P

LR- @0052%(500® {O @smﬂ
SIS IR



Problem 2
1. Find the equivalent resistance of this circuit.
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2. Fmd the current passmg through the battery. |

3. 10.0 Q Resistor
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4. 40 Q Resistor
A. Find V
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Solutions:
Probl: 1.692Q 2.00173A 3.A.694V B.00173A C.0120W 4A.506V B.00101A C. 0.0512W
Prob2: 1.101Q  2.0.887 A 3.A.412V B.0412A C.170W 4A. 127V B.0317A  C.0.402W




